BHEMEERE - TEEHDNEE

SRR 2TAE (BN bv - %)
ERr |3 = 5 | SR |aTER R BT | = O T | SE |[RTER R

a §t| 16,307,751 93.4]100.0 & §t( 16, 307, 751 93.4]100.0
1 ()[E W & gL 4,802,896 121. 4 29.50 1 (1) [F 3,224,164 96.1| 19.8
2 (3)|®E M| 2,131,827 89.2| 13.1|2 (2) |4 &| 2,074,529 85.9| 12.7
3 @5 sk B # H[ 2,048,906 78.0| 12.6|[3 (3) [JII | 1,584,655 108.2] 9.7
4 (@) [E A& F S| 1,241,182|117.0] 7.6|4 (5) |® | 1,146,613[ 92.1] 7.0
5 (6) |8 1z 772,389 77.8| 4.7|5 (4) |vE = 898,576| 71.8| 5.5
6 (5)|BE + b 715,539 70.0[ 4.4f[6 (8)|= i) 804, 700( 140. 4| 4.9
7 (7) |8k 2] 610,260( 77.1| 3.7 7 (9L H H % 740,976| 134.2[ 4.5
8 (9| Fi b 602, 450( 102.9| 3.7 8 (&) |u (i 701,643 71.1[ 4.3
9 (8) [ i 558,680| 81.6] 3.4|9 (7) |k 692,568 74.9| 4.2
10 Q0| F H & # 514,547 89.0| 3.2|f10 Q0)|= ) 542,301[101.7| 3.3

10 & FE A #H| 13,998,676 95.3| 85.8 10 # A FH 12,410,725 93.3| 76.1

a D | 2,309,075 83.1| 14.2 a fi| 3,897,026 93.7[ 23.9
&) afz> () PIE. mBi4EONERL,
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SRR 2TAE (BN by %)
ERr |3 = 5 | SR |aTEr R BT | = O T | SR |[RTER| R

a §t| 23,945,096 92.6]100.0 & gt 23, 945,096 92.6]100.0
1 (D[R Ml 9,021,979 93.4| 37.7[1 (1) |= Al 9,018,580 93.4| 37.7
2 |7 & B # H[ 2,983,147 77.8| 12.5[2 (2) [ IgF| 2, 285,946| 96.0] 9.5
3 )| F | 2,480,776 91.6| 10.4[[3 (3) [4 &| 2,051,012| 96.3] 8.6
4 W A ¥ M| 2,149,115] 93.4] 9.0)4 (5)|F #E[ 1,678,563[111.3] 7.0
5 (B) A Rl 1,948,396 99.7| 8.1|[5 (4) [& Al 1,538,506 88.8[ 6.4
6 (D& w #® S 1,437,993[105.6| 6.0f6 (7) |k & #H [ 1,119,905[109.9 4.7
7 (6) |4 | 1,122,648] 81.9| 4.7 7 (8) |A G 821,422| 90.1| 3.4
8 (® |l A ¥ & 958,291(103.7| 4.0 8 (&) | (i 692,132 47.9[ 2.9
9 (9)|= i 644, 184[ 149.31 2.7 9 [N Il 476,965[ 121.3[ 2.0
10 (10) |2 JX f 261,950 86.2| 1.1f[10 (9) [Xi H 435,538 94.2| 1.8

10 & FE A #t| 23,008,479 92.6] 96.1 10 # A Fh 20,118,569| 93.0| 84.0

a D fit 936,617 93.1[ 3.9 a fi| 3,826,527 90.8 16.0
&) Efz> () PIE. Bi4EONERL,
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